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() o weT sfrard ¥ wew watn S A 19 T TR 9y ¥ artaR P B ¥
(i) WOt WA | ¥ 4 % W Wod UX 7 of oft WR Iuwew ux | ofm Pt ¥
(ii) W9 AT § W 12 wm wedw W9 WX 2 ot Pruifa ¥ | wamm e % R g
T 30 9T ¥
(iv) W9 I 13 § 16 7% Wl W w3 siw Pruffa ¥ 1 welr we % g s A
T 75 e &
(V) WeT WHI 17 9T 4 ofm Fruifa 81 v owt % frg o b s 120 s %
(Vi) W I 18 W 19 7% To% W WX § ot Prurifea 1 vl www % frg g A
AN 150 9= ¥
(vii) SMATHATTAR @ TH Afea s e
Instructions :
(1) All questions are compulsory. Internal options are given in cach question
Nos. 8§ 1o 19, i

(i) Fuch question from Question Nos. 1 (o 4 carries 7 marks and each sub-question
carries 1 mark.,

(i1i)  Each question from Question Nos. § 1o 12 carries 2 marks and word limit for cach
answer is approx, 30 words.

(iv)  Each question from Question Nos. 13 to 16 carrics 3 marks and word limit for
cach answer is approx, 78 words.

(v}  Question No. 17 is given 4 marks and word limit for answer is approx.
120 words.

(vi) Each question from Question Nos. 18 to 19 carries § marks and word limit for
cach answer is approx. 150 words,

(vii) Draw neat and labelled diagrams wherever necessary.
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1 vow v A R T R ) P gt Pl 1x7=7

frg UHTT F I9AT dew P s w X ar mar ¥ 7

(a)
(i) FREET (i) gt
(iii) ST 3T (iv) v ErE
(b) T ity ¥
(i) wifey (i) A& @1 aw
(i) W Iwos s (iv) dfy s
(c) WIW el ¥ e & www g, afgwes @ v g0
(i) ¥ =9 Ed Y (i), & o o &
(i) & ToET B ¥ (v) 3 d o T8
(d) T W ¥ Jaaw omay e ¥
(i) 1.6 x 106C (i) 1.6 x 10710C
(i) 1.6 x 10°19C (iv) 6.02 x 103C
() el poeh @1 w@ea Pl T8 #a ¥
(i) Fosl H TEE W (i) Pvedt ¥ yada €U W
(i) Fuee & B W (iv) gvsal § ®O A g&T W
() zrewn e Regm woeTaia @ ¥ 7
(i) i) e g
i) Rrga ge@E ad (iv) T8 ¥ = T
(g frga geda a8 S et ¥
() @ HAY @
i) Rert amaw |
i) waaE 3 & afwE ey d
(v) e e § |
&) / B2V 2 N



Select and write the correct option fr,
m the gpti
ich 1 ptions gj .
(a) which is used as a voltage regulat given in each question
or ?

(i) Transformer
(1)) Transistor

(iii) Zener diode _
(iv) Photodiode

(b) The Ohmic resistance ig -

(1) Transistor )
(11) Copper wire

(iti) Light emitting diode (iv) Junction diode

(c) The focal length of eye in compound microscope
focal length of the objective. i

(i) is less than (il is more than

(iii) 1s equal (iv) None of these

(d) The minimum charge on a proton is :
G 1.6 x 108C (iiy 1.6 x 1071°C

(iii) 1.6 * 10719 C (iv) 6.02 x 102C

(e) The self inductance of coil does not depend on :

(i) the length of coil (ii) the current on the coil

(ii1) the radius of coil (iv) the number of turns of coil
() The transformer is based on the principle :
(1) Qelf Induction (ii) Mutual Induction
(i11) Electromagnetic waves (iv) None of the above

(8) Electromagnetic Waves are produced by

(1) an accelerated charge
(i) a static charge

(iji) moving a charge with unifor™ velocity

(iv) a current carrying conductor
et 1 11 |



(v) NAND ¥ & afirmy =joms .

O
(Vi) e & Hen frad 3 #1 @or g.
. ™
(vii) foga wRug ¥ droter 5 w2 ﬁﬁ@ngau. ¥

-
Fill in the blanks -

(i) The maximum frequency wave in electromagnetl@ waves is

(ii) The behavior of Solenoid like as - ™M
O

(iti) Meter bridge is based on the principle of S
. E 4

(iv) An air bubble inside water behaves like as lens.
(v) The Boolean expression of NAND gate is O .

(vi) The causes of blue colour of sky is

(vii) The voltmeter is always connected in in an electric

Ol63.04

circuit.

Tmamll ¢ = -
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(i) EIH ﬁ U @ [1-2
Yy f
(i) LA
(b) ®w
(iff) HATH foRol ( :
[ ¢) frga gaa
%
4 _v D
) e A o ( LD
r"r:} u“ fe
{V] 1 I,’_‘| (e) V.I,
ii) FE0 s (@) T AT F
(h) fwE T @1 g3
(i) WebTer @1 ga
Ry () St & AEE
Match the column "_ﬁ" with column "B" :
Column "Aﬁ". .-I' Column "B"
o D
(i) Magnifying pow‘er of Compound (a) 1—-f—
Microscope
(ii) Brewester's Law (b) Hertz
(iii) Infrared Radiations (c) Electromagnetic induction
e
oIt s [l+ D)
iv) Electron - Volt, d — —
(1v) Electron 0 | (d) i 7
(v)  Dynamo (e) VL
(vi) Ammeter (f) Hershel ‘
(vii) Electrical power (g) Instrument of measuring current
(h) Instrument of measuring potential
(i) Polarisation of light
(j)  Unit of encrgy
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; How does focal length of lens depends the power of lens ?

(1) Which gate is known as inversion gate ?

(iii) On which theory, Lenz's law is based ?

(iv) What is threshold frequency ?

(v)  How can increase the magnification power of Astronomical telesco
(vi) What is the effect of insulated medium on the potential ?

(vii) What is the reason for origin of Displacement current ?

5 oW & fm @ e 9 dund fafaw
Write any two limitations of Ohm's law.

ayqr / OR

frrars @1 dwear @& fraw fafeg |
Write Kirchoff's Voltage law.

6 It 9 fpY wEd § 7

What is Lorentz force ?
dyar / OR

@ e @ aoTe BRI 1

Define one Ampere.
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The polarising an -
gle of a tr
. an
refraction. Sparent medium is 30°. Calculate th
§ JUS culate the angle of

qYT / OR

W | dew ¥ | v B A \
s o P 4
| 538 A

The diameter of objecti
ectiv
jective lens of a Telescope is | meter. Calculate its resolving

power for the light of wavelength 4538 AO

WWW%%ngwmﬁwﬁ]ﬁm.

8
write Faraday's second law of electromagnetic induction.
st / OR
e o S oy fafee | @R )
Differentiate between Self lndﬁction and Mutual Induction. (any two)
9 mm%mm%wwwﬁwwwm

& q g g E

Show that the electric fl ce parallel the electric

ux passing through @ surfa

field 1s ZETO.

210} / E217



10 Ha’t‘ﬁrf%m«mwmﬁmt.m’f? p)

The danger signal ig always red, why ?

11 R e ey ey ¥ 7 |
What is Stopping potential 9 2
. &qqr / OR

TN & 2 T fafag

Wri isti
nte any two characteristics of matter waves,

12 NANDﬂzﬁmmedmﬂl '2
Draw the truth table of NAND gate and explain it.

sga / OR
NIHR Td P-UhT & ordtemas ¥ ofqx Ry | (@ @)

Write the differences between N-type and P-type semiconductors. (any two)

13t foga wRwa ¥ sfrdw R 7 R, wafex w9 A 9 03 W Rz 3

a?rﬁﬂq 5 I« gy Req =-—-}ﬁ, https://www.mpboardonline.com
N R + R,
In an electrical circuit, resistances R, and R2 are combined in parallel,
. . - R\R,
then prove that the equivalent resistance is Req = ——
A9 / OR g
frdy AW & fyga aes @@, R o efafie whde ¥ ware wrfam
O
N

e |
Establish the relation among electromotive force, potential difference ando

internal resistance of a cell.
- 8 mEnnmmn X0
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a

Write any two precautions,
- _1
'.'-i|

Wrmt
Wﬂﬁ'ﬁﬂﬁ el ﬁﬁwﬂmw
|

Describe the princ
principle of Potentiometer ijlh electrical circuit.

. wRdll T .
gl o i gl 4 e fof 1 @3 ;
write differences between Simple Microsc
mple M:crosc{')pe and Astronomical
(any three) = ical Telescope

aﬁf]afza‘raﬁﬁuﬁm@ﬁ%;t

mutual contact, then prove that the focal

Combine two thin convex lens be

length of combine lens

F= fufz
L+t

whereas, f, and f, are the focal lengljij}"or it.

p—LLLL
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17

18

e s B )
m 11000 Volt

A step-down transformer changes the transmitted line voltage fro
to 440 Volt. The number of turns in the primary coil is 8000. Fin
of tums in the secondary coil,

d the number

s / OR
Rl et 4 4 Ypwar wr v ar T g A dEE 100 ¥
8 @ a9 e B
Calculate the energy stored in a coil of inductance 100 Henry due to flow

of current 4 Ampere in it

wiws w7 ¥ ? OR, AND @ NOR ¥z % frq @ba, d@wr @
ud gfrgd gz faflgn |
What is meant by logic gates ? Write Symbol, Boolean formula and Truth
table for OR, AND and NOR gates.

Yy / OR
P-N ®fY erdiie a1 ¥ 7 srie @1 emaEly & wu § few wer Swdm fear
o & 7 gEEnRy |

What is P-N junction diode ? How does diode used as a forward bias ? Explain.

guifiy fFd @ed € 7 guiak @ duif @ uiiar & fvo =iwe uma
T |

What is a capacitor ? Establish an expression for finding capacitance of the

parallel plate capacitor.
qyar / OR

e foya fed wed ¥ 7 AT fayw @t Prel Rl 3 e aw o e
¥ fae e W g |
What is an electric dipole ? Establish an expression for finding electric field

intensity of an electric dipole for equatorial position.
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What isan A.C. generator ? Draw a
: labelied di . .
of A.C. dynamo. diagram and describe the working

F7 / OR
L-C-R "fwa # by Frafafen fargell & ameam 9T #ifm
(1) Fga o ) % aE
(3) wfoml deew (4) gftraran

(5) A
Describe the following points in an L-C-R circuit :
(2) Phasor diagram

(4) Impedance

(1) Electrical circuit
(3) Resultant voltage
(5) Phase difference
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